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(16) {dkmZ {dH$mg, V§ÌkmZmÛmao nm`m ŷV gw{dYm§Mm {dH$mg
1) Am¶grQ>r
2) D$Om© V§ÌkmZ
3) {dÚwVnwadR>m
4) dmhVyH$
5) ~m§YH$m‘
6) AmnÎmr ì`dñWmnZ
7) ì¶dñWmnZ
8) d¡km{ZH$ g§emoYZ
9) ’$m°aopÝgH$ {dkmZ

Am¶grQ>r
1) CnH$aUm§‘Yrb Zm°Z-bmBZa dV©Z emoYÊ`mgmR>r Imbrbn¡H$s H$moUVr JwUY‘©(ies) ‘hÎdmMr AmhoV/AmhoV?

1) g§n¥º$Vm 2) ‘¥V joÌ 3) {hñQ>oao{gg 4) darb gd©
1) Which of the following property(ies) is/are important in detecting non-linear behaviour in devices?

1) Saturation 2) Dead zone 3) Hysteresis 4) All the above

2) {~«O Q>mB©n ac/dc H$ÝìhQ>©agh ’«$sìhrqbJ S>m`moS> dmnaÊ`mMm ’$m`Xm ............ Amho.
1) arOZao{Q>ìh ~«oqH$J 2) {dídgZr` doJ {Z §̀ÌU
3) gwYm[aV nm°da ’°$ŠQ>a 4) {gñQ>‘Mr H$‘r qH$‘V

2) The advantage of using a freewheeling diode with bridge type ac/dc converter is .............

1) Regenerative braking 2) Reliable speed control

3) Improved power factor 4) Reduced cost of the system

3) bm§~ Q´mÝg{‘eZ bmBÝg ............ Ûmao Xe©{dë`m OmVmV.
1) Zm‘‘mÌ Pi ‘m°S>ob 2) Zm‘‘mÌ T ‘m°S>ob
3) g‘Vwë` Pi ‘m°S>ob 4) darb gd©

3) Long transmission lines are represented by .............

1) Nominal Pi model 2) Nominal T model

3) Equivalent Pi Model 4) All of the above

D$Om© V§ÌkmZ
1) {S>Pob B§OrZ nm°da ßbm§Q>Mm ghmæ`H$ drO dmna ............ Amho.

1) 2-4% 2) 13-21% 3) 8-10% 4) 5-8%
1) The auxiliary power consumption of diesel engine power plants are .............

1) 2-4% 2) 13-21% 3) 8—10% 4) 5-8%

2) S>rOr goQ>‘Ü ò, {S>Pob B§OrZ gm‘mÝ`V: ............ À`m doJmZo MmbVo.
1) 500-1200 rpm 2) 1300 - 3000 rpm 3) 3000-5000 rpm 4) 5000 rpm
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2) In DG sets, diesel engine is typically running at speeds of .............

1) 500-1200 rpm 2) 1300 - 3000 rpm 3) 3000-5000 rpm 4) above 5000 rpm

3) Cƒ S>moHo$ Am{U H$‘r {dgO©ZmgmR>r, nmÊ`mMr Q>~m©BZ dmnabr OmVo.............
1) noëQ>Z ìhrb 2) H°$ßbZ Q>~m©BZ 3) ’«$mpÝgg Q>~m©BZ 4) àmonoba Q>~m©BZ

3) For high head and low discharge, the water turbine used is  .............

1) Pelton wheel 2) Kaplan turbine 3) Francis turbine 4) Propeller turbine

4) bmoS>‘Ü ò AMmZH$ ‘moR>çm ~Xbm§gh pñWaVm Z J‘mdVm nm°B§Q>‘YyZ OmñVrV OmñV eº$sMm àdmh ............ åhUyZ
AmoiIbm OmVmo.
1) pñWa pñWVr pñWaVm 2) J{V‘mZ pñWVr pñWaVm
3) j{UH$ pñWVr pñWaVm 4) Cn-j{UH$ pñWVr pñWaVm

4) Maximum flow of power through a point without losing the stability with sudden large changes in

the load is known as .............

1) Steady state stability 2) Dynamic state stability

3) Transient state stability 4) Sub-transient state stability

5) r.m.s Mo H$‘mb ‘yë`mMo JwUmoÎma n`m©̀ r à‘mUmMo ‘yë` åhUyZ AmoiIbo OmVo
1) ’$m°‘© ’°$ŠQ>a 2) nrH$ ’°$ŠQ>a 3) nm°da ’°$ŠQ>a 4) {S>ñQ>mo{Q©>H$m°Z ’°$ŠQ>a

5) The ratio of maximum value to the r.m.s. value of an alternating quantity is known as

1) form factor 2) peak factor 3) power factor 4) distortikon factor

6) ......... `moOZm ~hþVm§e H$maUm§gmR>r Cn ẁº$ Amho OoWo ^ma Am{U nwadR>çmMr gmVË` A{V[aº$ IMm©Mo g‘W©Z H$aVo.
1) qgJb ~g 2) S>~b ~g S>~b ~«oH$a
3) XmoÝhr (1) Am{U (2) 4) darbn¡H$s H$mhrhr Zmhr

6) .......... scheme is useful for most of the purposes where the loads and continuity of supply justify

additional costs.

1) Single bus 2) Double bus double breaker

3) Both (1) and (2) 4) None of the above

7) ßb±Q>‘Ü ò ñWm{nV Ho$ë`mda ñd §̀M{bV nm°da ’°$ŠQ>a H§$Q´mobagh H°$no{gQ>a.............
1) dZñnVrMo ìhmoëQ>oO H$‘r H$aVo 2) dZñnVrMm ^ma àdmh dmT>dVo
3) {J«S>‘YyZ H$mT>bobr à{V{H«$`merb eº$s H$‘r H$aVo 4) {J«S>‘YyZ H$mT>bobr g{H«$` eº$s H$‘r H$aVo

7) Capacitors with automatic power factor controller when installed in a plant .............

1) reduces the voltage of the plant

2) increases the load current of the plant

3) reduces the reactive power drawn from the grid

4) reduces the active power drawn from the grid

8) {S>Pob nm°da ßbm§Q>Mm Adb§~ H$aÊ`mMm ’$m`Xm Imbrbà‘mUo Zmhr H$m?
1) H$‘r àXyfU 2) H$‘r ñWmnZm IM©
3) gdm©V H$m ©̀j‘ dZñnVr H$m‘{Jar 4) {H$‘mZ W§S> nmÊ`mMr Amdûm`H$Vm
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8) Following is not the advantage of adopting diesel power plant ?

1) less pollution 2) low installation cost

3) most efficient plant performance 4) minimum cooling water requirements

9) Imbrbn¡H$s H$moUË`m àH$maMm n§n àH$ënmVrb nmÊ¶mMr JiVr H$mT>Ê`mgmR>r dmnabm OmVmo?
1) S´mâQ> n§n 2) Ðmj n§n 3) ŚoZoO n§n 4) Q>§{~«b n§n

9) Which of the following types of pump is used for removing leakage water from a plant ?

1) Draught pump 2) Grape pump 3) Drainage pump 4) Tumbril pump

10) ’$m`a hm`S§́Q> Am{U ñào {gñQ>r‘ åhUyZ Imbrbn¡H$s H$moUVo nwadbo OmVo?
1) ObgmR>m 2) nmÊ`mMo n§n 3) B§noba            4) hm`S§́Q> Am{U EMìhrS>ãë¶yEgEg

10) Which of the following is provided as a fire hydrant and spray system ?

1) Water reservoir 2) Water pumps 3) Impeller 4) Hydrant and HVWSS

{dÚwVnwadR>m
1) ‘moQ>a Am{U ñQ>mQ>©g©À`m Q>{‘©Zb ~m°Šg‘Yrb H$ZoŠeZgmR>r dmnaë`m OmUmè`m cdMrH$ ZimMr bm§~r ............ nojm

OmñV Zgmdr.
1) 500 go‘r 2) 1.25 ‘rQ>a 3) 2 ‘rQ>a 4) 5 ‘rQ>a

1) The length of the flexible conduit used for connection between the terminal boxes of motor and

starters shall not exceed .............

1) 500 cm 2) 1.25 metres 3) 2 metres 4) 5 metres

2) ñQ>oAaHo$g dm`[a¨J‘Ü ò, pñdMogMr g§»`m Amdí`H$ Amho ....... Am{U àH$ma .............
1) 2, qgJbdo 2) 2, XmoZ ‘mJ© 3) 3, qgJbdo 4) 3, XmoZ ‘mJ©

2) In staircase wiring, the number of switches required are ....... and of the type .............

1) 2,singleway 2) 2,two way 3) 3,singleway 4) 3,two way

3) ............. n ª̀V j‘VoMo {dVaU Q´mÝg’$m°‘©a ~g{dÊ`mgmR>r nmob g~ñQ>oeZ C^mabo AmhoV.
1) 50 kVA 2) 100 kVA 3) 250 kVA 4) 500 kVA

3) Pole substations are erected for mounting distribution transformers of capacity upto .............

1) 50 kVA 2) 100 kVA 3) 250 kVA 4) 500 kVA

4) ‘hm{dVaU ............. À`m AmYmao J«mhH$mÀ`m OmñVrV OmñV ‘mJUrMr JUZm H$aVo.
1) EH$m {XdgmV EHy$U kWH + 24
2) EH$m ‘{hÝ`mV H$moUË`mhr jUr H$mT>bobo gdm©V ‘moR>o kVA

3) H$moUË`mhr gbJ 30 {‘{ZQ>m§Xaå`mZ H$mT>bobm gdm©V ‘moR>m kVA. ñbm°Q>
4) EH$m {XdgmV EHy$U kVAH + 24

4) MSEDCL calculates maximum demand of a consumer on the basis of .............

1) Total kWH in a day + 24

2) Largest kVA drawn at any instant in a month

3) Largest kVA drawn during any consecutive 30 min. slot

4) Total kVAH in a day + 24
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5) Imbrb n[apñWVrÀ`m g§X^m©V n`m©̀  (1) Vo (4) ‘Yrb MwH$sMo {dYmZ {ZdS>m.
{gñQ>‘ {dVaU ZwH$gmZ Am°pßQ>‘m`PoeZ‘Ü ò, CnbãY {d{dY n`m©̀ m§Mm g‘mdoe hmoVmo
1) nm°da ’°$ŠQ>a gwYmaUm.
2) {gpñQ>‘‘Ü ò Q´mÝg’$m°‘©aMo Bï>V‘ bmoqS>J.
3) OoWo ìhmoëQ>oOMo W|~ OmñV AmhoV Aem ’$sS>g© Am{U bmBÝgMo ar-ê$Q>tJ Am{U ar-H§$S>pŠQ>§J.
4) gd© A°ë ẁ{‘{Z`‘ {‘l YmVy H§$S>ŠQ>a (AAAC) EodOr Aë ẁ{‘{Z`‘ H$moQ>oS> ñQ>rb [aEÝ’$moñS>© (ACSR) Mr {ZdS>.

5) Select the incorrect statement from options (1) to (4) with respect to following scenario.

“In system distribution loss optimization, the various options available include

1) power factor improvement.

2) optimum loading of transformers in the system.

3) re-routing and re-conducting such feeders and lines where the voltage drops are higher.

4) selection of Aluminium Cored Steel Reinforced (ACSR) instead of All Aluminium Alloy

Conductors (AAAC).

6) ‘m{gH$ Cn`mo{JVm drO {~bm‘Ü ò Xe©{dë`mà‘mUo CÚmoJmV dmnaë`m OmUmè`m {dOoMr H$‘mb ‘mJUr (MD) ...... Amho.
1) kW ‘Ü ò ‘§Oya bmoS>
2) ‘{hÝ`m‘Ü ò gamgar kVA Zm|Xdbo Jobo
3) ‘{hÝ`mÀ`m AmV H$moUË`mhr EH$m ‘mJUrÀ`m A§VamZo Zm|Xdbobo gdm}ƒ gamgar kVA

4) VmËH$mi gdm}ƒ kVA ‘{hÝ`mÀ`m AmV H$moUË`mhr doir Zm|Xdbo Jobo
6) Maximum Demand (MD) of electricity used in industry as shown in a monthly utility electricity

bill is the .............

1) sanctioned load in kW

2) average kVA recorded within the month

3) highest average kVA recorded during any one demand interval within the month

4) instantaneous highest kVA recorded during any point of time within the month

dmhVyH$
1) Mma ñQ´moH$ {S>Pob B§{OZ‘Yrb ñQ´moH$Mm H«$‘ ............ Amho.

1) B§S>ŠeZ - H$m°åàoeZ - B{¾eZ Am{U nm°da - EŠPm°ñQ>
2) H$m°åàoeZ - B§S>ŠeZ - EŠPm°ñQ> - B{¾eZ Am{U nm°da
3) B§S>ŠeZ - H$m°åàoeZ - EŠPm°ñQ> - B{¾eZ Am{U nm°da
4) H$m°åàoeZ - B{¾eZ Am{U nm°da - àoaU - EŠPm°ñQ>

1) The sequence of strokes in four stroke diesel engine is .............

1) Induction — Compression — Ignition and Power — Exhaust

2) Compression — Induction — Exhaust — Ignition and Power

3) Induction — Compression — Exhaust — Ignition and Power

4) Compression — Ignition and Power — Induction — Exhaust
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~m§YH$m‘
1) ~m§YH$m‘mgmR>r H$moUVo XJS> A`mo½` ‘mZbo OmVmV?

(1) {d{eï> JwéËdmH$f©U 2-5 nojm H$‘r Agbobo XJS>
(2) {d{eï> JwéËdmH$f©U 2:5 nojm OmñV Agbobo XJS>
(3) 5:0 Am{U 7-0 Xaå`mZ {d{eï> JwéËdmH$f©U Agbobo XJS>
(4) 3-5 Am{U 4-5 Xaå`mZ {d{eï> JwéËdmH$f©U Agbobo XJS>

1) Which stones are considered unsuitable for construction ?

(1) Stones having specific gravity less than 2-5

(2) Stones having specific gravity greater than 2:5

(3) Stones having specific gravity in between 5:0 and 7-0

(4) Stones having specific gravity in between 3-5 and 4-5

2) Imbrb KQ>H$m§Mm {dMma H$am:
a) IS>H$mMo ñdê$n b)  ~moJÚmMr nÕV c) ~moJÚmMo àmo’$mBb d)  {bâQ>Mr Imobr
da Z‘yX Ho$boë`m KQ>H$m§n¡H$s H$moUVo KQ>H$ ãbmpñQ>§JgmR>r Amdí`H$$ ñ’$moQ>H$m§À`m à‘mUmda n[aUm‘ H$aVmV?
(1) (b)  Am{U (c) (2) (a)  Am{U (b) (3) (c) Am{U  (d)  (4) darb gd©

2) Consider the following factors :

(a) Nature of rock (b) Method of tunnelling

(c) Profile of tunnel (d) Depth of lift

Which of the factors stated above affect the quantity of explosives required for blasting ?

(1) (b) and (c) (2) (a) and (b) (3) (c) and (d) (4) All of the above

3) grdoO Q´rQ>‘|Q> ßbm§Q>À`m {S>PmBZgmR>r Imbrbn¡H$s H$moUVo ‘wÔo d¡Y AmhoV?
a) àË òH$ CnMma à{H«$ ògmR>r EH$mnojm OmñV ẁ{ZQ> àXmZ H$aUo Mm§Jbo.
b) gd© ẁ{ZQ²ggmR>r eŠ`Vmo ~m`nmg Q>mimdoV.
c) hm`S´mo{bH$ {S>PmBZZo Amdûm`H$ VoWo ñd-ñdÀN>VoMm doJ gw{Z{l²MV Ho$bm nm{hOo.
CÎma n`m©̀ :
(1) ’$º$ (a) Am{U  (b) (2) ’$º$ (b) Am{U (c) (3) ’$º$ (a)  Am{U (c) (4) darb gd©

3) Which of the following points are valid for design of sewage treatment plants ?

(a) It is better to provide more than one unit for each treatment process.

(b) Preferably by-passes should be avoided for all units.

(c) Hydraulic design should ensure self-cleaning velocity wherever required.

Answer options :

(1) Only (a) and (b) (2) Only (b) and (c) (3) Only (a) and (c) (4) All of the above

4) Ooìhm EH$ amoqbJ QóZ JS>©ada {’$aV Agob, Voìhm nyU© H$‘mb PwH$Umam jU àmá hmoB©b Ooìhm
(1) OmñVrV OmñV ^ma JS>©aÀ`m ‘Ü`^mJr R>odbm OmVmo.
(2) H$‘mb ^ma Aem àH$mao R>odbm OmVmo H$s JS>©aMm ‘Ü` H$‘mb ^ma Am{U n[aUm‘r ^mamnmgyZ g‘mZ A§Vamda

AgVmo.
(3) n[aUm‘r ^ma JS>©aÀ`m ‘Ü`^mJr R>odbm OmVmo Am{U Ë`mZwgma BVa ^ma R>odbo OmVmV.
(4) JS>©aÀ`m ‘Ü`^mJr OmñVrV OmñV ^ma Q>mH$bm OmVmo Am{U Ë`mZwgma BVa ^ma Q>mH$bm OmVmo.



For Private Circulation Only

JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : gm‘mÝ¶ {dkmZ  / 101

4) When a rolling train is moving on a girder, then absolute maximum bending moment will be

obtained when

(1) maximum load is placed on the middle of the girder.

(2) maximum load is placed such that middle of girder is equidistant from maximum load and

resultant load.

(3) resultant load is placed on the middle of the girder and other loads are placed accordingly.

(4) maximum load is placed on the middle of the girder and other loads are placed accordingly. ’

5) àrñQógMo ZwH$gmZ àrñQóqgJ ñQ>rbMo CËnmXZ Am{U H$m±{H«$Q> ’$m`~aÀ`m A§{V‘ {H«$n ñQóZMo CËnmXZ åhUyZ {‘imboë`m
H$m±H«$sQ>À`m JiVr‘wio hmoVo.
(1) bd{MH$VoMo ‘mnm§H$ (2) {eAa ‘mnm§H$ (3) ~ëH$ ‘m°S>çybg (4) darbn¡H$s Zmhr

5) The loss of prestress is due to ereep of concrete obtained as the product of of the prestressing

steel and the ultimate creep strain of concrete fibre.

(1) Modulus of Elasticity (2) Shear modulus

(3) Bulk modulus (4) None of the above

6) àrñQóñS> H$m±{H«$Q>‘Ü ò H$moUË`m H$maUm§‘wio Cƒ-eº$sMo H$m±H«$sQ> Amdûm`H$ Amho?
(1) àrñQóqgJ ñQ>rbgmR>r ì`mdgm{`H$ A±H$aoO {S>PmBZ H$aUo
(2) Cƒ-eº$sMo H$m±H«$sQ> AmHw§$MZ nmdÊ`mg H$‘r O~m~Xma AgVo
(3) Cƒ-eº$sMo H$m±H«$sQ> VUmd Am{U H$mVaUo VgoM ~m±S> Am{U ~oA[a¨J‘Ü ò Cƒ à{VH$ma XoVo
(4) darb gd©

6) Due to which reasons is high-strength concrete necessary in prestressed concrete ?

(1) To design commercial anchorage for prestressing steel

(2) High-strength concrete is less liable to shrinkage cracks

(3) High-strength concrete offers high resistance in tension and shear, as well as in bond and

bearing

(4) All of the above

7) Imbrbn¡H$s H$moUVo {Z §̀ÌU Am{U [abo {~pëS§>J YmoŠ`m§‘Ü ò g‘m{dï> Amho?
1) noQ´mob gmR>dU qH$dm {dVaU gw{dYm 2) B‘maVrÀ`m g§aMZoMo W‘©b ZwH$gmZ
3) Ywam‘wio BVa CnH$aUm§Mo ZwH$gmZ hmoVo 4) eº$sZo `m§{ÌH$ ZwH$gmZ

7) Which of the following is included in control and relay building hazards ?

1) Gasoline storage or dispensing facilities

2) Thermal damage caused to the building structure

3) Smoke damage caused to other equipment

4) Mechanical damage by force

AmnÎmr ì`dñWmnZ
1) Imbrbn¡H$s H$moUVo AmnÎmr ì`dñWmnZmMo VËd Zmhr?

1. ~Mmd 2. nwZàm©ár 3. gm‘§Oñ` 4. AmoiI
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1) Which of the following is NOT a principle of disaster management?

1. Rescue 2. Recovery 3. Reconciliation 4. Recognition

2) Imbrbn¡H$s H$moUVo nm°da ßbm§Q>‘Yrb AmJrMo YmoHo$ H$‘r H$aÊ`mg ‘XV H$aVo?
1) AmCQ>S>moAa qH$dm BZS>moAa Am°Bb-BÝgwboQ>oS> CnH$aUo
2) Am°Bb-BÝgwboQ>oS> Ho$~b
3) dm ỳZo e‘Z H$aVmV
4) hm`S´moOZ-Hy$ëS> qgH«$moZg H§$S>oÝga

2) Which of the following helps reduce fire hazards in a power plant ?

1) Outdoor or indoor oil-insulated equipment 2) Oil-insulated cable

3) Are quenching by gas 4) Hydrogen-cooled synchronous condensers

ì¶dñWmnZ
1) àH$ën ‘yë`m§H$ZmÀ`m g§doXZerbVoÀ`m {díbofUm‘Ü ò Imbrbn¡H$s H$moUË`m ‘wX²Úm§Mm g‘mdoe hmoVmo?

A) {dÚ‘mZ H$mbmdYrnojm H$mbmdYrMr bm§~r {dMmamV KoUo.
~) àH$ënmÀ`m dñVy Am{U godm§À`m {H$‘Vt‘Ü ò ~Xb (dmT> qH$dm KQ>).
H$) IMm©À`m ñVam§‘Ü ò ~Xb.
S>) {nHo$ Am{U newYZ `m§À`m CËnmXZ nmVirV ~Xb.
B) àH$ënmgmR>r Omar Ho$boë`m AZwXmZmMr a¸$‘.
n¶m©¶r CÎmao …
1) A ~ H$ B
2) H$ B S> A
3) S> ~ A H$
4) B ~ A S>

1) The sensitivity analysis of the project appraisal includes which of the following points ?

a) Consideration of the length of the period over the existing one.

b) Changes (increase or decrease) in prices of goods and services of the project.

c) Changes in the levels of cost.

d) Changes in the yield levels of crops and livestock.

e) Amount of subsidy released for project.

Answer options :

1) a b c e

2) c e d a

3) d b a c

4) e b a d

2) H$m‘Jma (bmoH$) Am{U Ë`mMo H$m ©̀ dmVmdaU (‘erZ) `m§À`mVrb g§~§Ym§Mm d¡km{ZH$ Aä`mg Omo ‘ñHw$bmoñHo$boQ>b
{dH$ma H$‘r H$aÊ`mg ‘XV H$aVmo Ë`mbm ________ åhUVmV.
1) ì`mdgm{`H$ amoJ 2) EH«$mo’$mo{~`m
3) ‘mZgemór` Aä`mg 4) EJm}Zm°{‘Šg
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2) The scientific study of the relationship between the workman (People) and his working environment

(Machine) that helps in reduction of musculoskeletal disorders is called __________.

1) occupational disease 2) acrophobia

3) psychological study 4) ergonomics

3) OSHA Zwgma, STEL Mo nyU© ê$n H$m` Amho?
1) em°Q>© Q>‘© EŠgnmoOa ‘`m©Xm 2) gwa{jVVm {dfmar EŠgnmoOa nmVir
3) gwajm dmhVyH$ ñ’$moQ>H$ ‘`m©Xm 4) AënH$mbrZ ñ’$moQ>H$ nmVir

3) As per OSHA, what is the full form of STEL?

1) Short Term Exposure Limit 2) Safety Toxic Exposure Level

3) Safety Transport Explosive Limit 4) Short Term Explosive Level

4) nwT>rcn¡H$s H$moUVo {dYmZ {Z{üVnUo H$aVm ¶oVo ?
1) c§S>Z‘Yrc am°¶c gmogm¶Q>rZ§ XodS>rdmë¶mM§ H$m‘ H$aUmè¶m crdZhÿH$Mo emoY{Z~§Y àH$m{eV Ho$co ZmhrV
2) MM© ho gÎmmYmè¶m§Mr MmH$ar H$aV Ago
3) {dkmZmV àm¶mo{JH$ ‘m{hVrMm g§M¶ ZgVmo
4) ‘ºo$XmarMr H$ënZm AmYw{ZH$ Amho.

4) Which of the following statements holds true according to the passage ?

(1) Royal Society of London refused to publish the research articles written by a gatekeeper

named Leeuwenhoek

(2) Church served the powerful classes

(3) Science does not include a store of experimental information

(4) The idea of copyright is modern

5) noQ>§Q> d ‘ºo$XmarMm AmJ«h Yacm OmVmo H$maU .........
1) {dkmZmV OmoIr‘ KoVm ¶oV Zmhr 2) CËnmXZmMr gmYZo ImOJr ‘mcH$sMr AgVmV
3) am°¶c gmogm¶Q>r noQ>§Q>cm ‘mÝ¶Vm XoVo. 4) Ë¶mVyZ H$moS>çmV nmS>Umè¶m ‘m{hVrM§ ñnï>rH$aU {‘iV§.

5) According to the passage, patent and copyright are insisted upon because

1) One cannot take any risk in science

2) Tools of production are privately owned

3) Royal Society approves the patents

4) They offer an explanation for perplexing data

6) g§nyU© bmoH$g§» òEodOr Z‘wZm {dMmamV KoVm, ‘mZH$ {dMbZ H$moUË`m {MÝhmZo gy{MV Ho$bo OmVo?
1. bhmZ S 2. O 3. ^m§S>db S 4.s

6) When considering a sample instead of the entire population, by which symbol is the standard

deviation denoted?

1. Small S 2. O 3. Capital S 4. s

7) pñWa AdñWoer OmñV AmË‘r`Vm Agbobo KQ>H   ______.

1. àdmg g§W 2. ObX àdmg 3. ’$m°‘© 4. {daKiVmV
7) The components with greater affinity towards the stationary phase ______.

1. travel slow 2. travel fast 3. forms 4. gets disolved



For Private Circulation Only

JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : gm‘mÝ¶ {dkmZ  / 104

d¡km{ZH$ g§emoYZ
1) {dkmZmMm Imbrbn¡H$s H$moUVm Ñ{ï>H$moZ nÕVera {ZarjUm§da Adb§~yZ AgVmo?

1) AZŵ ddmX 2) ~w{ÕdmX 3) {ZYm©admX 4) d¡̀ {º$H$ AZŵ d
1) Which of the following approaches of science relies on systematic observations ?

1) Empiricism 2) Rationalism 3) Determinism 4) Personal experience

2) Ho$g H§$Q´mob ñQ>S>r‘Ü ò ........ OwiUr Ho$br OmVo.
a) {ZdS> nydm©J«h Xya H$am b) ‘wbmIVH$mamMm nydm©J«h Xya H$am
c) kmV H$Ý’$mD$§S>g©Mo à^md H$mTy>Z Q>mH$m d) AkmV Jm|YimMo n[aUm‘ H$mTy>Z Q>mH$m
n¶m©¶r CÎmao …
1) ’$º$ a 2) ’$º$ b 3) ’$º$ c 4) a, b Am{U d ’$º$

2) Matching is done in case control study to ........

a) Eliminate selection bias b) Eliminate interviewer's bias

c) Remove effects of known confounders d) Remove effects of unknown confounder

Answer Options :

1) a only 2) b only 3) c only 4) a, b and d only

3) Vrg àm¡T> nwéf é½Um§Zm V§~mIy MKiÊ`mÀ`m B{Vhmgm~Ôb {dMmaÊ`mV Ambo Ooìhm Vo {Z`{‘VnUo X§V VnmgUrgmR>r
Ambo Am{U Ë`mZ§Va Ë`m§À`mn¡H$s {H$Vr OUm§Zm Vm|S>mdmQ>o amoJ Pmbm Amho ho nmhÊ`mgmR>r nmR>nwamdm Ho$bm. Aä`mgmMm
àH$ma H$m` Amho?
1) H«$m°g goŠeZb 2) Ho$g H§$Q´mob 3) g§̂ mì` g‘yh 4) n`m©daUr`

3) Thirty adult male patients were asked about the history of tobacco chewing when they came for

regular dental checkup and then followed up to see how many of them had oral malignancy. What

is the type of study ?

1) Cross sectional 2) Case control 3) Prospective cohort 4) Ecological

4) ‘mZH$ {dMbZ Amho ...
1) gamgarMo ‘mn 2) {^ÞVoMo ‘mn 3) loUr à‘mUoM 4) ‘Ü`H$mà‘mUo JUZm Ho$br

4) Standard deviation is ...

1) A measure of average 2) A measure of variation

3) The same as range 4) Calculated like median

5) OmoIr‘ KQ>H$ AmoiIÊ`mgmR>r Am{U OmoI‘rÀ`m à‘mUmMm A§XmO KoÊ`mgmR>r Imbrbn¡H$s H$moUË`m ‘hm‘mar{dkmZ
nÕVr dmnaë`m OmD$ eH$VmV?
1) g‘yh Aä`mg Am{U `mÑpÀN>H$ {Z §̀ÌU MmMUr 2) Ho$g H§$Q´mob Am{U H$mohmoQ>© ñQ>S>r
3) Ho$g H§$Q´mob Am{U H«$m°g goŠeZb ñQ>S>rO 4) g‘yh Aä`mg Am{U n`m©daUr` Aä`mg

5) Which of the following epidemiologic methods can be used to identify risk factors and estimate

the degree of risk ?

1) Cohort study and Randomised Control Trial 2) Case control and cohort study

3) Case control and cross sectional studies 4)  Cohort study and ecological studies
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6) H$mbmdYrMm àgma Cnm` :
1) amoJmMr gd© ZdrZ àH$aUo
2) n[a^m{fV H$mbmdYr Xaå`mZ amoJmÀ`m gd© dV©‘mZ àH$aUm§Mr (ZdrZ Am{U OwZr) dma§dmaVm
3) ’$º$ OwZr, amoJmMr {dÚ‘mZ àH$aUo
4) dfm©À`m 31 ‘o amoOr gd© Mmby àH$aUm§Mr dma§dmaVm.

6) Period prevalence measures :

1) All new cases of disease

2) Frequency of all current cases of disease (new and old) during a defined period

3) Only old, existing cases of disease

4) Frequency of all current cases on May 31 of a year.

7) Oo bmoH$ H$ënZm qH$dm V§ÌkmZmMm àgma Am{U Adb§~ H$aÊ`mg A{YH$ doi KoVmV Ë`m§Zm åhUVmV
1) Zdmo{XV 2) bdH$a ~hþ‘V 3) ‘mJo nS>Umao 4) ‘V ZoVo

7) Those who take more time for diffusion and adoption of idea or technology are called as

1) Innovators 2) Early majority 3) Laggards 4) Opinion leaders

8) g§dmXmÀ`m {d{dY nÕVtn¡H$s H$moUË`m nÕVr‘Ü ò Aä`mg Xm¡am g‘m{dï> Amho
1) g‘yh nÕV 2) dñVw‘mZ nÕV 3) d¡̀ {º$H$ nÕV 4) Am^mgr nÕV

8) Amongst the different communication methods, in which method “Study Tour” is included

1) Group method 2) Mass method 3) Individual method 4) Virtual method

9) gm‘m{OH$ ì`dñWoÀ`m gXñ`m§‘Ü ò H$mbm§VamZo H$mhr ‘mÜ`‘m§Ûmao ZmdrÝ`nyU© g§dmX gmYbm OmVmo Ë`m à{H«$ òbm Ago
åhUVmV.
1) g§dmX 2) àgma 3) XÎmH$ 4) darbn¡H$s H$mhrhr Zmhr

9) The process by which innovation is communicated through certain channels over time among the

members of a social system is called as

1) Communication 2) Diffusion 3) Adoption 4) None of the above

10) g‘mOmMo ‘yb ŷV EH$H$ Amho.
1) eoOmar 2) JQ> 3) Hw$Qw>§~ 4) g‘wXm`

10) is the basic unit of society.

1) Neighbourhood 2) Group 3) Family 4) Community

11) EH$ Z‘wZm Á`m‘Ü ò "n' doJdoJù`m ẁ{ZQ²gÀ`m àË òH$ g§̂ mì` Z‘wÝ`mMr {ZdS> hmoÊ`mMr g‘mZ g§Yr AgVo Á`m‘Ü ò
Z‘wZm {ZdS>Ê`mMr g‘mZ g§Yr XoIrb gy{MV hmoVo.
1) AY©-`mÑpÀN>H$ Z‘wZm 2) gmYo `mÑpÀN>H$ Z‘wZm
3) ñVarH¥$V `mÑpÀN>H$ Z‘wZm 4) ‘ëQ>rñQ>oO `mÑpÀN>H$ Z‘wZm

11) A sampling in which each possible sample of ‘n’ different units has an equal chance of being

selected which also implies an equal chance of selection into the sample is called as

1) quasi-random sampling 2) simple random sampling

3) stratified random sampling 4) multistage random sampling
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amoJ{dkmZ
1) Vrd« AmOmamÀ`m {dfmUyMm A§XmO bmdÊ`mgmR>r gdm©V Cn ẁº$ ‘mnX§S> åhUOo .........

1) Ho$g ‘¥Ë ỳ Xa (CFR) 2) Xwæ`‘ h„m Xa (SAR)

3) KQ>Zm 4) à‘m{UV ‘¥Ë ỳ à‘mU (SMR

1) Most useful parameter to predict the virulence of acute illness is .........

1) Case Fatality Rate (CFR) 2) Secondary Attack Rate (SAR)

3) Incidence 4) Standardised Mortality Ratio (SMR)

2) SWOT åhUOo H$m`?
1) gm‘Ï ©̀, H$‘Hw$dVnUm, AS>Wio, Y‘Š`m 2) gm‘Ï ©̀, H$‘Hw$dVnUm, g§Yr, Y‘Š`m
3) gm‘Ï ©̀, H$‘Hw$dVnUm, A{^‘wIVm, {dMma 4) ‘O~yV, H$‘Hw$dV, AS>Wio, {dMma

2) What is SWOT ?

1) Strength, Weakness, Obstacles, Threats

2) Strength, Weakness, Opportunities, Threats

3) Strength, Weakness, Orientation, Thought

4) Strong, Weak, Obstacles, Thought

3) pŠb{ZH$b Q´m`bMm g‘mdoe Agboë`m Aä`mgmMo Zmd H$m` Amho Á`m‘Ü ò pŠb{ZH$b Q´m`b nyU© hmoB©n ª̀V gh^mJr
H$moUVo CnMma qH$dm hñVjon H$aV AmhoV ho gh^mJtZm qH$dm g§emoYH$mbm ‘mhrV ZgVo?
1) {Vhoar-A§Y Aä`mg 2) Xwhoar-A§Y Aä`mg 3) A§Y Aä`mg 4) AZŵ dOÝ` Aä`mg

3) What is the name of the study that involves clinical traial in which neither the participants nor the

researcher knows which treatment or intervention participants are receiving until the clinical

trial is over ?

1) Triple-blind study 2) Double-blind study 3) Blind study 4) Empirical study

4) Amamo½` godm Am{U {d{dY Amamo½` H$m ©̀H«$‘m§À`m n[aUm‘H$maH$VoMo gyMH$ H$moUVo?
1) KQ>Zm 2) àgma 3) ‘¥Ë ỳ Xa 4) Xwæ`‘ AmH«$‘U Xa

4) Which is the better indicator of efficacy of health case services and various health programs ?

1) Incidence 2) Prevalence 3) Case fatality rate 4) Secondary attack rate

5) ì`dñWmnZ V§ÌmÀ`m n[a‘mUdmMH$ nÕVrMo Imbrbn¡H$s H$moUVo CXmhaU AmhoV?
a) g§ñWmË‘H$ aMZm b) g§dmX c) IM© boIm d) {ZU©̀  KoUo
n¶m©¶r CÎmao …
1) ’$º$ a Am{U b 2) a Am{U c ’$º$ 3) c Am{U d ’$º$ 4) b Am{U d ’$º$

5) Which of the following are example of quantitative method of management techniques ?

a) Organizational design b) Communication

c) Cost accounting d) Decision making

Answer Options :

1) a and b only 2) a and c only 3) c and d only 4) b and d only
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6) ~±Ho$V H$m‘ H$aUmè`m {H$Vr bmoH$m§Zm hm`naQ>oÝeZ Amho ho VnmgH$Ë`m©bm ‘m{hV AgUo Amdûm`H$ Amho. òWo H$moUË`m
àH$maMm Aä`mg Xe©{dbm Amho?
1) Ho$g H§$Q´mob ñQ>S>r 2) H$m°hmoQ>© ñQ>S>r 3) ’$sëS> Q´m`b 4) H«$m°g goŠeZb ñQ>S>r

6) An investigator needs to know how many people working in a bank have hypertension. What is the

type of study represented here ?

1) Case control study 2) Cohort study

3) Field trial 4) Cross sectional study

7) é½Umb`mVrb AmH$S>odmarÀ`m g§X^m©V Imbrb {dYmZmMm {dMma H$am. Ë`mn¡H$s H$moUVo/`mo½` AmhoV?
a) é½Umb`mVrb AmH$S>odmar ^mOH$ Zmhr ’$º$ A§e àXmZ H$aVo.
b) g‘mOmVrb amoJm§À`m dma§dmaVoÀ`m A§XmOmgmR>r é½Umb`mVrb AmH$S>odmar hr EH$ Iam~ ‘mJ©Xe©H$ Amho.
c) é½Umb`mVrb AmH$S>odmar Amamo½` godm§À`m {Z`moOZ Am{U ‘yë`‘mnZmgmR>r ‘m¡ë`dmZ ‘m{hVr àXmZ H$aV Zmhr.
d) é½Umb`mVrb AmH$S>odmar bmoH$g§» òÀ`m àm{V{Z{YH$ Z‘wÝ`mMr ‘m{hVr XoVmV.
n¶m©¶r CÎmao …
1) a ’$º$ 2) a Am{U b ’$º$ 3) c Am{U d ’$º$ 4) d ’$º$

7) Consider the following statement in regards to hospital statistics. Which of them is/are correct?

a) Hospital statistics provides only numerator not denominator.

b) Hospital statistics is a poor guide to estimation of disease frequency in community.

c) Hospital statistics do not provide valuable information for planning and evaluation of health

case services.

d) Hospital statics provide information on a representative sample of population.

Options :

1) a only 2) a and b only 3) c and d only 4) d only

8) àm`mo{JH$ Aä`mgmV, {Z §̀ÌU JQ>mMm CÔoe Amho
1) àm`mo{JH$ CnMma
2) ho ‘moR>çm g§» òZo é½Um§Zm dmnaÊ`mg AZw‘Vr XoVo, Ë`m‘wio dmnaë`m OmUm`m© gm§p»`H$s` V§Ìm§Mr eº$s dmT>Vo.
3) ho Aä`mgmÀ`m {ZH$mbm§~Ôb {ZU©̀  KoÊ`mg ‘XV H$aVo.
4) ho J¥hrVH$ MmMUr‘Ü ò àH$ma II ÌwQ>r ~Z{dÊ`mMr eŠ`Vm H$‘r H$aVo

8) In an experimental study, the purpose of control group is

1) Experimental treatment

2) It allows larger number of patients to be used, thus increasing the power of the statistical

techniques used.

3) It helps to make judgements about the results of the study.

4) It reduces the likelihood of making in type II error in hypothesis testing

9) njnmVr qH$dm {Xem ŷb H$aUmar ‘m{hVr amOH$s` H$maUmMm àMma H$aÊ`mgmR>r dmnabr OmVo...
1) Amamo½` g§dY©Z 2) Amamo½` {ejU 3) àMma 4) d{H$br

9) Information of a biased or misleading nature used to promote political cause is...

1) Health Promotion 2) Health Education 3) Propaganda 4) Advocacy

10) Amamo½` {ejUmMr VÎdo dJiVm gd© g‘m{dï> AmhoV.
1) gh^mJ 2) àoaUm 3) ‘O~wVrH$aU 4) {ejm
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10) Principles of health education include all except.

1) Participation 2) Motivation 3) Reinforcement 4) Punishment

11) g§Kf© ì`dñWm{nV H$aÊ`mgmR>r Amdûm`H$ H$m¡eë ò H$moUVr AmhoV?
1) ~§Y V`ma H$am Am{U {Q>H$dyZ R>odm Am{U g§dmX ñWm{nV H$am Am{U dmQ>mKmQ>r H$am
2) ‘mgo Q>o~bda R>odm Am{U g§Kf© H$em‘wio hmoVmo Vo g‘OyZ ¿`m
3) nmañn[aH$VoMm H$m`Xm dmnam Am{U gH$mamË‘H$ g§~§Y {Z‘m©U H$am
4) darb gd©

11) What are the essential skills to manage conflict ?

1) Create and maintain bond and establish dialogue and negotiate

2) Put the fish on the table and understand what causes conflict

3) Use the law of reciprocity and build positive relationship

4) All of the above

12) Ho$g ‘¥Ë ỳ Xa g§~§{YV {dYmZo {dMmamV ¿`m :
a) ho R>am{dH$ H$mbmdYrV R>am{dH$ AmOmamZo ‘¥Ë ỳ hmoÊ`mÀ`m OmoI‘rMo ‘moO‘mn H$aVo.
b) ho ‘¥Ë ỳbm {dH¥$Vrer OmoS>Vo.
c) ho {df~mYm, amgm`{ZH$ àXe©Z qH$dm BVa AënH$mbrZ amoJ Zgboë`m ‘¥Ë ỳÀ`m H$maUm§gmR>r dmnabo OmD$ eH$V

Zmhr.
darbn¡H$s H$moUVr {dYmZo ~amo~a/AmhoV?
1) ’$º$ a 2) ’$º$ a Am{U b 3) ’$º$ a Am{U c 4) ’$º$ c

12) Consider the statements regarding case fatality rate :

a) It measures risk of persons dying from certain disease within a given time period.

b) It links mortality to morbidity.

c) It cannot be used in poisoning, chemical exposure or other short term non disease cause of

death.

Which of the above statements is/are correct ?

1) Only a 2) Only a and b 3) Only a and c 4) only c

13) Am°naoeZ ßb°qZJ‘Ü ò g‘m{dï> Amho ....
1) C{Ôï>/CnbãY/bú ò/`emMo gyMH$ `m§Mo {ddaU.
2) CnbãY Am{U g§~§{YV S>oQ>m Am{U ‘m{hVrMm dmna
3) àmYmÝ`H«$‘, Q>mB‘bmBZ Am{U ~OoQ>Mo AZwgaU H$am
4) darb gd©

13) Operation planning include ....

1) Statement of purpose/deliverables/targets to be achieved/success indicators.

2) Use of available and relevant data and information

3) Prioritization, follow timeline and budget

4) All of the above

’$m°aopÝgH$ {dkmZ
1. {b½Ma {MÝh j¡{VO Amho:

1. Ý`m`mb`rZ ’$mer 2. AmË‘KmVH$s ’$mer 3. Jim Xm~yZ 4. H$moaS>r ~wS>Uo
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1. The ligature mark is horizontal in:

1. judicial hanging 2. suicidal hanging 3. strangulation 4. dry drowning

2. ’o${Zg nÕV hr ______¶mdd« AmAmYm[aV qbJ {ZpíMV H$aÊ`mMr Ñí¶ nÕV Amho.
1. H$nmb 2. øw‘ag 3. ’$mgao 4. lmo{U

2. The Phenice method is a visual method of sexing the ______.

1. cranium 2. humerus 3. ribs 4. pelvis

3. bmi JiUo ho EH$ d¡{eï²>` Amho:
1. ‘¥Ë ỳnyd© ’$mer 2. Jim Xm~Uo 3. nmoñQ>‘m°Q>©‘ ’$mer 4. ~wS>Uo

3. Dribbling of saliva is a feature of:

1. antemortem hanging 2. strangulation

3. post-mortem hanging 4. drowning

4. ~ÝgS>mobm hm Jim Xm~Ê`mMm EH$ àH$ma Amho:
1. ApñW~§YZ 2. hmV 3. bmH$S>r H$mR>çm 4. H$monamMo dmH$Uo

4. Bansdola is a form of strangulation by:

1. ligature 2. hands 3. wooden sticks 4. bend of elbow

5. ‘La facies sympathique’ hr pñWVr Imbrb ~m~VrV {XgyZ ̀ oVo:
1. ’$mer XoUo 2. Jim Xm~Uo 3. Ji’$mg KoUo 4. aoëdo AnKmV

5. The condition ‘La facies sympathique’ is observed in case of:

1. hanging 2. strangulation 3. throttling 4. railway accidents

6. ~§XwH$m‘Ü ò Imbrbn¡H$s H$moUVr {H«$`m §̀ÌUm ‘mZbr OmV Zmhr?
1. ~moëQ> A°ŠeZ 2. brìha A°ŠeZ 3. n§n A°ŠeZ 4. am`’$b ~moa

6. Which of the following is NOT considered as an action mechanism in a firearm?

1. Bolt action 2. Lever action 3. Pump action 4. Rifle bored

7 ______hr ~§XwH$mVrb A§VJ©V gwajm Zmhr.
1. A§JR>m 2. h°‘a ãbm°H$
3. ’$m`[a¨J {nZ {S>ñH$ZoŠQ> H$am 4. Q´mÝg’$a ~ma

7. ______ is NOT an internal safety in a firearm.

1. Thumb 2. Hammer block

3. Firing pin disconnect 4. Transfer bar

8 ______ho ñQ´rQ>oS> ‘mŠg© ZmhrV.
1. ’$m`[a¨J {nZ S°́J ‘mŠg© 2. ’±Q>‘ ‘mŠg© 3. EH$mJ« ~«rM ‘mŠg© 4. M|~a ‘mŠg©

8. ______ are NOT striated marks.

1. Firing pin drag marks 2. Phantom marks

3. Concentric breech marks 4. Chamber marks
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9. H°$Zë ẁAa ~§XwH$ AmoiIÊ`mg ‘XV H$aVo Ogo Vo {ZYm©[aV H$aVo:
1. ~wboQ>Mm {Z‘m©Vm.
2. {d{eï> Jmoir PmS>Umè`m eómMr AmoiI.
3. eómMm {Z‘m©Vm.
4. {d{eï> Jmoir MmbdUmè`m ~§XwH$sMm àH$ma.

9. A cannelure helps in firearm identification as it determines:

1. the manufacturer of the bullet.

2. the identity of the weapon that fired a particular bullet.

3. the manufacturer of the weapon.

4. the type of gun that fired a particular bullet.

10. h°ÝS> JZMr H$moUVr §̀ÌUm qH$dm àUmbr hmVmiUr, bmoqS>J, ’$m`[a¨J Am{U amD$§S> H$mT>Uo H$ìha H$aVo?
1. H¥$Vr 2. C„§KZ 3. M|~[a¨J 4. JQ>~mOr

10. Which mechanism or system of a hand gun covers manipulating, loading, firing and extracting

rounds?

1. Action 2. Breach 3. Chambering 4. Grouping

11. ’$m`[a¨J {nZ H$mS>VwgmÀ`m àmB‘abm àÁd{bV H$aÊ`mgmR>r H$maUr ŷV §̀ÌUm ______ Amho.
1. {H«$`m 2. ~°H$ñQ°́n 3. hmVmoS>m 4. ~«rM

11. The mechanism that causes the firing pin to ignite the primer of a cartridge is ______.

1. action 2. backstrap 3. hammer 4. breech

12. QóS> doAa B§{S>Ho$Q>aH$S>o bj {Xbo OmVo H$maU:
1. Vo Q>m`aMm H$moUVm ^mJ R>gm C‘Q>dVmV Vo AmoiIÊ`mV ‘XV H$ê$ eH$VmV.
2. Ë`m§À`mH$S>o Ago A§H$ AmhoV Oo R>gm C‘Q>dUm`m© Q>m`aMm àH$ma AmoiIVmV.
3. Vo Vwåhmbm Q>m`aMm a§J AmoiIÊ`mMr nadmZJr XoVmV. (Oa Vmo H$mim ZgVm)
4. Vo H$ma MmbdUmè`m ì`º$sMo qbJ CKS> H$ê$ eH$VmV.

12. Attention is paid to tread wear indicators because:

1. they can help pinpoint the part of the tire which made the impression.

2. they have numbers that identify the kind of tire that made the impression.

3. they allow you to identify the colour of the tire. (if it was not black)

4. they can reveal the gender of the person who drove the car.

13. NABL åhUOo:
1. à`moJemim§gmR>r amï´>r` ‘mÝ`Vm ‘§S>i
2. MmMUr à`moJemim§gmR>r amï´>r` ‘mÝ`Vm ‘§S>i
3. H°${b~«oeZ à`moJemim§gmR>r amï´>r` ‘mÝ`Vm ‘§S>i
4. MmMUr Am{U H°${b~«oeZ à`moJemim§gmR>r amï´>r` ‘mÝ`Vm ‘§S>i

13. NABL stands for:

1. National Accreditation Board for Laboratories

2. National Accreditation Board for Testing Laboratories

3. National Accreditation Board for Calibration Laboratories

4. National Accreditation Board for Testing and Calibration Laboratories
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14. à`moJemioMr ‘mÝ`Vm šššššš dfmªÀ`m H$mbmdYrgmR>r d¡Y Agob.
1. 5 2. 3 3. 2 4. 6

14. Accreditation to a laboratory shall be valid for a period of ______ years.

1. 5 2. 3 3. 2 4. 6

15. Imbrbn¡H$s H$moUË`m nwamì`m‘Ü ò ~oHo$ aofm {XgVmV?
1. bmHy$S> 2. n|Q> 3. H$mM 4. YmVy

15. In which of the following evidences are the Becke lines seen?

1. Wood 2. Paint 3. Glass 4. Metal

16. nrqZJ åhUOo:
1. Jmob n§MmZo n¥ð>^mJmda hmVmoS>m ‘maUo 2. nm°da J«mB§S>aZo ‘yi H«$‘m§H$ ^aUo
3. ZdrZ H«$‘m§H$mda {e¸$m ‘maUo 4. Z§~a ßboQ> ~XbUo

16. Peening means:

1. hammering the surface with a round punch

2. filling away the original number with a power grinder

3. stamping the new number

4. changing the number plate

17. H$m°åàoeZ ‘mŠg© `mÛmao V`ma Ho$bo OmVmV:
1. hmVmoS>m 2. H$Q>a 3. gm° 4. {S´b ‘erZ

17. Compression marks are produced by:

1. hammer 2. cutter 3. saw 4. drill machine

18. S>m°. '’«$mÝgMo eoabm°H$ hmoåg' åhUyZ à{gÕ Agbobo ES>‘§S> bmoH$mS>©, ’$m°aopÝgH$ gm`ÝgÀ`m joÌmV AmYma{ebm åhUyZ
H$m‘ H$aUmè`m ‘yb ŷV AmYmamÀ`m {Z{‘©VrgmR>r gd©Ì AmoiIbo OmVo. Ë`mZo H$moUVo VËd ‘m§S>bo?
1. gmYo R>odm.
2. àË òH$ g§nH©$ EH$ Qóg gmoS>Vmo.
3. Oa H$mhr MyH$ hmoD$ eH$Vo, Va Vo hmoB©b.
4. àË òH$ {H«$ ògmR>r g‘mZ Am{U {déÕ à{V{H«$`m AgVo.

18. Dr. Edmond Locard, renowned as the ‘Sherlock Holmes of France’, is widely acknowledged for

his formulation of a fundamental premise that serves as a cornerstone in the field of forensic

science. What principle did he propose?

1. Keep it simple. 2. Every contact leaves a trace.

3. If anything can go wrong, it will.     4. For every action there is an equal and opposite reaction.

19. JwÝømÀ`m ñHo$M‘Ü ò {MÝhm§{H$V Ho$boë`m ~mUmMr {Xem H$m` Amho? n`m©̀  :
1. n{íM‘ 2. nyd© 3. X{jU 4. CÎma

19. What is the direction of the arrow marked in crime scene sketch?Options :

1. West 2. East 3. South 4. North
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20. ______ ZdrZ à`moJemim à{H«$ òVrb gd© {H«$`mH$bmnm§Zm AmìhmZ XoVo OoUoH$ê$Z à{H«$`m H$m ©̀ H$aob `mMr Cƒ
nmVirMr ImÌr àXmZ H$aob
1. XñVEodO {Z §̀ÌU qH$dm ì`dñWmnZ 2. àdrUVm ‘yë`m§H$Z
3. à{H«$`m {Z §̀ÌU 4. à‘mUrH$aU

20. ______ challenges all activities in a new laboratory process in order to provide a high level of

assurance that the process will function as intended in the live environment.

1. Document control or management 2. Proficiency assessment

3. Process control 4. Validation

21. à`moJemioÀ`m {ZH$mbm§À`m JwUdÎmoda Am{U Ahdmbm§À`m JwUdÎmoda n[aUm‘ H$aUmè¶m MmMUr{edm` BVa à{H«$`m
C{Ôï>mZwgma H$m ©̀aV AmhoV `mMr ImÌr XoÊ`mgmR>r {Z`mo{OV H¥$VtMm g§M Amho:
1. JwUdÎmm {Z §̀ÌU 2. JwUdÎmm h‘r
3. JwUdÎmm ì`dñWmnZ àUmbr 4. AZwnmbZ

21. A set of planned actions to provide assurance that the processes, other than testing, that influence

the quality of the laboratory's results and reports are operating as intended is:

1. quality control 2. quality assurance

3. quality management system 4. compliance

22. ’$m°aopÝgH$ {díbofUm‘Ü ò, ñH«$sqZJ MmMÊ`m Imbrb CÔoem§gmR>r Ho$ë`m OmVmV:
1. VmËnwaVr AmoiI 2. {Z{íMV AmoiI
3. n[a‘mUdmMH$ {dl²bofU 4. AY©-n[a‘mUdmMH$ {díbofU

22. In forensic analysis, the screening tests are performed for the purpose of:

1. tentative identification 2. definite identification

3. quantitative analysis 4. semi-quantitative analysis

23. OminmoirÀ`m JwÝømÀ`m {R>H$mUmhÿZ {‘imboë`m §̂Jma dñVy§À`m n°Ho$qOJgmR>r `mo½` H§$Q>oZa______Amho.
1. KÅ> PmH$U Agbobm {Q>Z ~m°Šg 2. ßbmpñQ>H$ {nedr
3. H$mnS>r {nedr 4. grb~§X H$mJXr {nedr

23. The appropriate container for packaging debris items obtained from an arson crime scene is a

______.

1. tin box with tight lid 2. plastic bag

3. cloth bag 4. sealed paper bag

24. JwÝømÀ`m Ñí`mMm AmH$ma JwÝømMm àH$ma, nwamì`mMo ñWmZ Am{U ______ `mda Adb§~yZ AgVmo.
1. nwamì`mMm àH$ma 2. g§e{`VmMo {R>H$mU
3. JwÝømMo dmVmdaU 4. JwÝømÀ`m {R>H$mUr A{YH$mè`m§Mr g§»`m

24. The size of a crime scene depends on the type of crime, the location of the evidence and the

______.

1. type of evidence 2. location of suspect

3. climate of crime scene 4. number of officers in the crime scene
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25. AZdmUr VnmgUrÀ`m Imbrbn¡H$s H$moUË`m nÕVr‘Ü ò AmoiIë`m Joboë`m nm`mÀ`m R>emMr ê$naofm H$mT>br OmVo Am{U
AkmV nm`mÀ`m R>em§da R>odbr OmVo Am{U Ë`mMr VwbZm Ho$br OmVo?
1. Am°pßQ>H$b g|Q>a nÕV 2. AmÀN>mXZ nÕV 3. JZ nÕV 4. g§{‘l nÕV

25. In which of the following methods of barefoot examination is an outline of an identified footprint

drawn and positioned over an unknown footprint and compared?

1. Optical centre method 2. Overlay method

3. Gunn method 4. Composite method

26. JwÝømÀ`m {R>H$mUr Imbrbn¡H$s H$moUVo XñVEodOrH$aU Ho$bo OmV Zmhr?
1. ’$moQ>moJ«m’$s Am{U pìh{S>AmoJ«m’$s 2. ZmoQ> ~ZdUo
3. ñHo$qMJ 4. UV Am{U  IR B‘oqOJ

26. Which of the following is NOT a type of documentation done at crime scene?

1. Photography and videography 2. Note-making

3. Sketching 4. UV and IR imaging

27. ‘mÝ`Vm åhUOo: n`m©̀ :
1. ‘yë`m§H$Z Am`mo{OV H$aUo 2. nyd©-{ZYm©[aV ‘mZH$m§Mr nyV©Vm H$aUo
3. H$miOr IM© à^mdr ~ZdUo 4. JwUdÎmm gw{Z{íMVM H$aUo

27. Accreditation means:Options :

1. conducting assessment 2. meeting pre-determined standards

3. making care cost effective 4. ensuring quality

CÎmao : (16) {dkmZ {dH$mg, V§ÌkmZmÛmao nm`m ŷV gw{dYm§Mm {dH$mg

Am¶grQ>r
1-4 2-3 3-3

D$Om© V§ÌkmZ
1-2 2-2 3-1 4-1 5-2 6-2 7-3 8-1 9-3
10-2

{dÚwVnwadR>m
1-2 2-2 3-3 4-3 5-4 6-3

dmhVyH$
1-1

~m§YH$m‘

1-1 2-4 3-3 4-2 5-1 6-4 7-1
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AmnÎmr ì`dñWmnZ
1-4 2-3

ì¶dñWmnZ
1-3 2-4 3-1 4-2 5-2 6- x

7- x

d¡km{ZH$ g§emoYZ
1-1 2-3 3-3 4-2 5-2 6-2 7-3 8-1 9-2 10-3
11-2

amoJ{dkmZ
1-1 2-2 3-2 4-1 5-3 6-4 7-2 8-3 9-3 10-4
11-4 12-2 13-4

’$m°aopÝgH$ {dkmZ
1-3 2-4 3-1 4-3 5-1 6-x 7-x 8-x 9-x 10-x

11-x 12-x  13-x 14-x 15-x 16-x 17-x 18-x 19-x 20-x

21-x 22-x 23-x 24-x 25-x 26-x 27-x


